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5 4 _ 9.3 ~ ?7
6x° + 7x S8x g

59%

(a) 62°
(b) 7%

(c) 8x3

(d) none of the above

Correct answer: —8z3
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628 + 7% — 823
im |8 T r Tl =77

r—0 _7:[:5 — x4 + 9.5(:3_

(a) DNE

97%

(b) —8/9

() 6/7

(d) none of the above
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6x° + 7% — 823
im |8 T r Tl =77

r—0 _7:(:5 — x4 + 9.5(:3_

(a) DNE

96%

(b) —8/9

() 6/7

(d) none of the above
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61° -+ 7x% — 823

gli_r>n0 725 — 224 + 923
(a) DNE 99%
(b)—-8/9
(c)6/7

(d) none of the above
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T Ao
im |2F e 2E) o,

z—0 | Tx* 4+ 5z —1

(@) 0 3%

(b) =2

(c)3/7

(d) none of the above
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34 — 23 4+ 2x

lim =77
z—0 | 7% —x
(@) 3/7
91%
(b) =2
()0

(d) none of the above

Topic 0200 20 pts



[ 42— 7%+ 4z
lim = 77
r—0 | =223 4 722 — 4z
(a) —2 99%
(b) 1
() -1

(d) none of the above

Topic 0200 20 pts



ZD
O



